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The expression [image: image1.png]cos(x—x)



 is equivalent to

	1)
	[image: image2.png]




	2)
	[image: image3.png]—SiN X
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The expression [image: image6.png]cos(90° + &



 is equivalent to

	1)
	[image: image7.png]cos &
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The expression [image: image11.png]sin{ &+ 90)°



 is equivalent to
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The expression [image: image16.png]sin{90° - &



 is equivalent to
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The expression [image: image21.png]sin180° — x)



 is equivalent to

	1)
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	2)
	[image: image23.png]COSX
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The expression [image: image26.png]cos(270° - 4)



 is equivalent to
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The value of [image: image31.png]sin{ 180 + x)



 is equivalent to

	1)
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	2)
	[image: image33.png]—sin(90 - x)
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	4)
	[image: image35.png]sin{90 - x)
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The expression [image: image36.png]tan(180° - y)



 is equivalent to

	1)
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	2)
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T+ tany
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The expression [image: image41.png]tan(180° + x)



 is equivalent to

	1)
	[image: image42.png]cotx





	2)
	[image: image43.png]tan x





	3)
	[image: image44.png]—cotx





	4)
	[image: image45.png]—tan x
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